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Instructions :

(1) All questions are compulsory.

(i)  Marks for each question are indicated against it.
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What are the activities in a business office in which computerization
leads to maximum cost reduction and efficiency improvement ?

ot =mEatas @1 A f5 seieead % FoRiem @ = § waive @ o
FrfeET GUR WvE ¢ 7

How is Internet useful to business organizations ?
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Write notes on the following :
(i)  E-Ticketing

(i) Internet banking

(iii) Debit card
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What are the circumstances in which a consumer of goods or services
can seek assistance of the Consumer Protection Courts in India ?
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What is an Inland Container Terminal ? How does it help the trade in
import and export of goods ?
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6. What are the main problems of long distance rail passengers on lndiaﬁ
Railways ? ' 4
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7. What explains the rapid growth in the number of domestic air

passengers in India ? 6
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8. Write notes on the following : 6

(i) Toll Bridges
(ii) Shatabdi Trains
(iii) Palace on Wheels
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9. What are the main reasons of large number of accidents to road
passengers and pedestrians on Indian Railways Level Crossing Gates 7 6
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10. How are the claims for loss of goods in tfanéit settled in Indian

Railways ? 6
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11. Journalise the following : 4

(i)  Purchase goods worth ¥ 10,000
(ii) Withdraw T 20,000 from Bank
(iii) Furniture sold for cash ¥ 30,000
(ivi Wages paid of ¥ 1,00,000
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Gi) ¥F ¥ T 20,000 fF=E

(iii) ¥ 30,000 F A=K THE &«

(v) T 1,00,000 #=EH F TAM fha
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12. Prepare a Trading and Profit and Loss Account and Balance Sheet
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from the following information for the year endmlfl 31 March, 2010 :
Particulars T | Particulars L4
Stock {upeniné] 10,500 | Bills Receivable 1,600
Wages 3,000 | Furniture & Fixtures | 12,000
Freight 1,800 | Cash 1,800
Carriage Inward 1,600 | Bad Debts 850
Commission on Purchases 400 | Debtors 5,900
Purchases 12,000 | Creditors 2,600
Sales 22,000 | Income Tax 700
Purchases Returns 700 | Withdrawals 10,000
Sales Returns 500 | Bills Payable 3,090
Trade Expenses 340 | Loan 1,00,000
Computers 1,00,000 | Capital 85,000
- Depreciation 1,000 | Commission on Sales 500
Machinery 32-,:5110 Fax Machine 10,000
Closing Stock at T 13,000
Ait
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